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#;= MV-CE060-10UM MV-CE060-10UC
28 600 J5% % 1/1.8" CMOS USB3.0 T\ T BEAEH]
M RE
RS ES CMOS, BRI
ERRE S Sony IMX178
BITR~N 2.4 um X 2.4 um
FER~T 1/1.8"
I 3072 X 2048
AR 42.7 fps@3072 X 2048
ASEE 71.3dB
{ERRLL 41.3dB
s 0dB ~20 dB
RR SR [a] 16 us ~ 1 sec 24 us ~ 1 sec
PRIER XFEFEMBX. FrhEX. —HREXLIK Global Reset
H/%® H PAE)
BREEK Mono 8/10/12
Mono 8/10/10p/12/12p Bayer RG 8/10/10p/12/12p
YUV422Packed, YUV422 YUYV_Packed
RGB 8, BGR 8
Binning FTHE1x1, 2%2
DS X FF
3 XK EER
ZHRE 128 MB
SR
HIEREO USB3.0, 3& USB2.0
#F1/0 6-pin Hirose ¥z LIRMAHFRFN 1/0: 1 BXMBFBEERA (Line0), 1 BHKIBIREE
it (Linel), 1EXWNAAIECEIFPRES 10 (Line2)
e 12VDC, 3Z#F USB3.0 e
HAITHEE 2.7 W@5 VDC (USB {tH1)
&8
BN C-Mount
SN R~F 29 mm X 29 mm X 30 mm
2 #)56g
IP Br 4P 2R IP30 (IEFRIEFELIARLLENIERT)
mE TERE 0v50°C, fiffERE-30~70C
SRR 20%~80% RH Jo)4 5
—RRSE
i MVS 2 37 USB3 Vision X FIEE =773k 4
B1ERSG Windows XP/7/10 32/64bits, Linux 32/64bits % MacOS 64bits
T/ FRAE USB3 Vision, GenlCam
TAIE CE, FCC, RoHS, KC
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